ac4/?

. Add o Y
el 7 O/TFU-LS/ELG-II SET -(A) ouestonooktetne. 547045

Seal of Superintendent of Examination Centre

AT FETA H A

Rt B Sifer-gve 39 4 g
To be filled in by Candidate by Ball-Point pen only

T2 F1 Foi5
Sl No. of Answer-Sheet

EREIC
Roll No.

|

|

ﬁm:ﬁ%ﬁ&@ﬁﬁaﬁmwmmtl

Declaration : T have read and understood the instructions given below.

e & g ST S5 TR

(Signature oflnvigilator) ____________________________________ (Signature Of Ca.l'ld]dth)
e % A s1aeff 7 A

(Name of Invigilator) ............... | (Name of Candidate) ...

Paper: II Subject : LIFE SCIENCES

Time: 2 Hours

Marks: § 200

R e 2 ur—

Number of Pages in this Question Booklet } 48

B v-aftaaT F vt = gy

Number of Questions in this Question BODklEtJL 1 00

INSTRUCTION TO CANDIDATES
Immediately after getting the Booklet read instructions

steafofar 3 forg frdor

1 o - i iR ; bt

carefully, mentioned on the front and back page of the e o H@"ﬁ “ 8 ¥ Ry il
Question Bookletanddonctopen the seal given on the right mw%ﬁl ETI%#T WE"ﬁ?ﬁ'ﬂﬂﬂmﬁ? FE 4 T‘i o
hand side, unless asked by the invigilator. Do not accept a el | W di ¥ ai i a1 g g e Yfier =
g::;klet without sticker-seal and ddu not acc;ptbank?pen =iHE 9 F:1 | g EORCinE & e S & wer S

Klet. As soon as you are instructe, to open the booklet in 5 fafie ¥ sifsars. Hfra T v gy

the first 5 minutes you should compulsorily tally the number ::T-T':) = 7 F i ﬁw.m ; w‘!f;} , ‘;.'q‘ ﬁ?ﬁ“ﬂ
of pages and number of questions in the booklet with the m yfeT TS T He R qe
information printed on the cover page. Faulty booklets due FAS | g/ S A G qww A 9wy
o pages/questions missing or duplicate or not in serial order T 91 =7 Tt fainarg & F W zﬁgT;f w94 it 5
or any other discrepancy should be got replaced immediately 5 faf a7 Tl By Ty e
within 5 minutes, Afterwards, neither the Question Booklet w5 * :f;{ e Rl T 8 W
will be replaced nor any extra time will be given. SGE S FHwT 7 & s v e s

2. Write your Roll No., Answer-Sheet No., in the specified places | 2. % few g fuffe q ST arEE, IR-Yfem &
given above and put your signature, % ford 7o sy TEAST FE |

8. Make all entries in the OMR Answer-Sheet as per the given _ = i whafeai ﬁi‘?ﬂﬁﬂ'ﬂ 3
instructions, otherwise Answer-Sheet will not be evaluated. | > a}?:‘? :;l:;ﬂz F“ﬂjﬁ ot il ITI"SI 3

4. For each question in the Question Booklet choose only one it ¥ (S . ;
correct/most appropriate answer, out of four Options given | 4. W% ¥ % I ¥ v § ye ¥ Ay f&e Ty =r
and darken the circle provided against that option in the e & 4wl ge Fa T € fawew @ T F
gt B e Sk Do (s, S 8 o o e e
pen only. HIE HHIE § T 8, mﬁﬁuﬁa—mﬁqﬁ ‘_ﬁ'

5. Darken the circle of chosen option fully, otherwise answers 5. W IW AW T HI St [ W, ae 3oy B HeIIET
will not be evaluated. Erilt|
Example : @ . © @ If (B) is correct answer. TETRIOT : @ . © @ afe (B) AT HE T

6. Therg are 100 objective type questions in this Booklet, A]] 6. e-Yfss # 100 FHEE o far e ¥ yes WA ¥ forg
questions are compulsory and carry 2 marks each. 2 3% P &) @ [ )

7. Do not write anything anywhere in the Question Booklet or - ¢
on the Answer-Sheet except making entries in the specified | 7. We-Sf&mag FHR-vie H 4 i sfafi v 3 sifefi
places. Rough work is to be done in the space provided in w4 o o ol w e, I # IvereT vy w
P, > s | & O ST % S oo ww ot % qm sgmen

8. When the examination is over, original OMR Answer $heet is IR-¥iz derE ) wh S| T T IR v S
to be handed over to the invigilator before leaving the d
examination hall, while the Question Booklet and carbon FTe HI e T W A S i
copy of the Answer-Sheet can be retained by the candidate. 9. e T 5 feu womes Tl T8 fapay EiCuill

9. There is no negative marks for incorrect answer. 10. f&ft ot g % WW/ET'? m/m B 1 W4 Afely

10. Use of any calculator/log table/mobile phone is prohibited. I

" Engin verion v vt e e vmems e | L % ot v st s s o v
Technical words terminology in English shall be Reafir &, <t afirsht TEUT i T ST A
considered as standard. TRt & ford afiht sresrasi Tk HIAT |re |

9210/TFU-LS/FLG-1T Set- A



dell
Stamp


SPACE FOR ROUGH WORK / T% &d & fod s

Set - A 2 9210/TFU-LS/ELG-11



LIFE SCIENCES - II
S fagm - 11

1.  Therelation between speciesrichness and 1, waifg Tgfs $7 &9 (ufen) & s % TaY

area is described on a logarithmic scale 1 THHT gRT U S ey g 31 aftfg
by equation [ Where S = species richness, Fora /0 1| [t S = wenfer wufy, A= &7,
A=area, Z =slope of the line (Regression Z=1a 1| 719 (H9T5gm HEUTs ),
coefficient), C=Y - intercept] C=Y - §zr8w]
(A) logS=log C-Zlog A (A) logS=log C-Zlog A
(B) logS=2Z log A (B) logS=Zlog A
(C) logS=log C+Zlog A (©) logS=log C+Z log A
(D) logC=log S+Zlog A (D) log C=llog S+Zlog A
2. A bacteriophage is a : 2. defrEree
(A) Bacterium (A) fram
(B) Bacterium infecting virus (B) ffamoy =i formoy = wishfire @ &
(C) Virus infecting bacterium (C)  fermmoy i <framy =61 worfir w5y &
(D) Virus infecting viroid (D) fammy St foriares =1 wamfia e &

3. How many daughter cells are formed 3. & HIE HIfYERT ﬁH(OS)WWﬁWIﬁH

when a cell divides five (05) times BI €, T ol ot et =t ey 2t 2
mitotically ?

(A) Thirty two (32) (A) =9 (32)

(B) Sixteen (16) (B) HIE® (16)

(©) Sixty four (64) (C) =rus (54)

(D) Eight (08) (D) 373 (08)

SPACE FOR ROUGH WORK / T% &T4 % for e
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4.  'Project Tiger’ is a wildlife conservation 4. YR H a1 q ARy H Wh
project initiated in India in : AR TR 9 St wre g €
(A) 1942 (A) 1942
(B) 1974 (B) 1974
(© 1971 ©) 1971
(D) 1972 (D) 1972
5. In humans haemophilia is caused bya 5. A& SR X- feis srqmmet tefter 3 s
X-linked recessive allele, A heterozygous A | B 2 Y fordrea areft afy B
female for this trait marries a normal male. Teremy it Afeen foet gmr=y T59 9 foaame
This pair has two daughters : F T 3ﬂ"( foare T 3T & giEt €
=1 - |
(@) Both daughters normal (a) 2 gt wr gt
(b)  Both daughters haemophilic (b) = gt stfura wm st 2
(c) One haemophilic and one normal (€) U= sfewer wa aeft qon TH W=y
it |
(A) (@) and (c) (4) (@) 3R (o)
(B)  (b) and (c) (B) (@) 3 ()
© (a) © (a)
(D) (b) D) (b)
6. Transport of ions actively takes 6.  TRIE ®Y H AT e B €
place |
(A) With concentration gradient and (A) wigu Hfew= & my THH ATP 1
not require ATP T et &)
(B)  Against concentration gradient and (B) Wigw & foaes 399 ATP =t
does not require ATP SATEYHFHA T et &)
(€)  Against concentration gradient and (C) wiEw Hsu= & favg Tud ATP 53
require ATP STI¥IHAT Bt & |
(D) Against pressure gradient and (D) =@ Afsu= & fawg T99 ATP =71
require ATP HEIFHA Bt
SPACE FOR ROUGH WORK / % &1 % fort wg
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Knowing that Na*/K*ATPase is the
molecular basis of Na— K pump and that
the pump extrudes Na* ions and brings
in K* ions, which of the following cells/
tissues are likely to have the highest level
of Na*/K* ATPase activity in their
membranes ?

(A) Neurons
(B) Myocytes
(C) RBC

(D) Kidney cells

The modern evolutionary synthesis
gradually developed by the contributions
of : (a) Darwin, (b) Lamarck, (c) Mendel
and (d) Morgan in the sequence :

(4)  (b) = (d) = (@) - (¢)
B) B> @) - () - (d)
©) @ - ®) - (d)- (9
(D) (d) = (a) = (b) - (9)

Ranthambore National Park is situated
in ;

(A) Rajasthan

(B) Uttar Pradesh

(€) Arunachal Pradesh
(D) Gujarat

A’ 9 gL fF Na*/K*ATPase, Na—K
9 F A UK % U W9, Na* sy
%1 Frepifaa s # sin K* 91 & ey
AN, T H Y o Fifermist v s
I A F Na*/K* ATPase 3 waffirs
39 T fopand & gedt &7

(A) =
(B) WrrETREe
(C) SRt

(D) g% iy

(a) =TfdH, (b) @mETH, () Asw qo

(4) (b) = (d) = (a) - (o)
(B) )@ (- (@
© @-0) - (@
(D) () = (@) = (b) > (0)

OISR T T o &

(A) e
(B) SWWRWH

(C) smEuTEe yew &
(D) T o
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10.  Which pathway synthesize the phenols ?  10. ®iHel &1 Gvarv fFg W9 § & 21 22
(A) Shilcimic acid pathway (A) YicdH= tfaes oy &

(B) Mevalonic acid pathway (B) WHawifiw UfaE miy 3§

(C) CAM pathway (C) ¥ (CAM) WY &

(D) TCA pathway (D) TCAWY &

11. (a) Darwins idea for the origin of 11. (a) yeifodi 1 Sefa W, =i w1 famw

species became the most acceptable eifers @i 2
one.

(b) It was based on the process of (b) T ®U W T gR GHMG wHfE
natural selection, originally =] i Ffshar W snenfi o |
advocated by Wallace.

(A) Both (a) and (b) are correct (A) (a) 3R (b) ST wet &

(B) (a) is correct, but (b) is incorrect (B) (a) WEl &, W% (b) 7Tt ¥

(C) (a) is incorrect, but (b) is correct (C) (a) o1 B, W (b) Wt &

(D) Both (a) and (b) are incorrect (D) (a) 91 (b) B Tera &

12.  During which one of the following stages ~ 12. SRIFSIRT Y 3Ea ¥ e 375en % orm,
of Arabidopsis embryogenesis, cell Tl gy Har F Fiferwr e we
elongation throughout the embryonic axis SifedTer # faem 89 w2
and further development of the cotyledon |
occur ? |
(A) Torpedo stage (A) <TdrEr staRen
(B) Heart stage (B) BE syEen
(C) Globular stage (C) TEreR sTER
(D) Mature stage (D) Tasfaa stazen

SPACE FOR ROUGH WORK / T% %14 % fort s
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13. In E.coli, rec A gene is involved in 13,

recombination as well as repair and
DNA B gene is involved in unwinding of
DNA double strands during replication.
Which of the following statement is/are
correct about Rec A and DNA B ?

(@) Mutation in E.coli rec A gene is
lethal.

~(b)  E.coli with mutated DNA B gene
does not survive.

(c) DNA Bafter uncoiling DNA double
strands,  prevents  further
reannealing at the separated
strands.

(d) Rec A gene is involved in SOS
response and helps DNA repair.

The correct options are :
(A) (b) and (0)
(B) (a) and (b)
(© (b) and (d)
(D) (a) and (¢)

14. The national heritage animal of Indiais: 14,

(A) Lion
(B) Tiger
(C) Indian Rhinoceros

(D) Asiatic Elephant

EFIeH 4, rec A ST b TS Tomg §
M ST € 99 DNA B 519 faferdas &

e

DNA fg &€ % srgreem & %1 sy

#1799 3 § 39 W %9 Rec A 99T DNA B
ERELRRE: i 7E )

()

(b)

()

(d)

(A)
(B)
©
(D)

SfWrecAEﬁ?ﬁaﬂﬁ?ﬁhW
BAME

3IqfEfdd DNA B st aren g Fiert
Sifad e g

DNA Si&t 23 % sree % qvam
DNA B foaifom =8l ® yrafiem
i bl B

SOS Afeifsham & Rec A wfinferg 2y
99 DNA =7 § drer 3a7 8

(b) 3R (c)
(a) 3T (b
(b) 3T (d)
(a) #H ()

I =1 U1 g groft & .

(A)
(B)
(©)
(D)

e
=110
RIEGi 2

TferE weft

SPACE FOR ROUGH WORK / T% @72 & ferar g
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15. (a) For the development of haploid  15. (a) %@ﬁgm&’m%m TR H
plants, microspore mother cells U AIEHIER A1g I (MMC)
(MMC) present in the anther are =1 HarfA T s €1
cultured.
(b) MMCs are haploid in nature. (b) MMC, Yfa # Bwize A €
Which of the following gives the correct frfafed 4 w0 ad sag?
answer ? '
(A) Both (a) and (b) are correct (A) (a) A% (b) 3 TE T
(B) (a) is correct but (b) is incorrect (B) (a) HE'T TR (b) TTETE §
(C) (a) is incorrect but (b) is correct © () naa BT (b) WE ®
(D) Both (a) and (b) are incorrect (D) (a) 1 (b) ST T &
16. Assertion (A) : Population density of  16. AfUHYT (A) : Hg=F Sfawi Ft sHE@
indicator organisms shows degree of FFC WEHU] i HIE S E |
pollution. -
Reason (R) : Low BOD indicates less WHNOT (R) : f7=9 BOD, vi&1 # ELECINIEED
organic waste in water. Taferes gwrfar 8
(A) Both (A) and (R) are true, but (R) is (A) (A) ?L’JT (R) S91 W&l €, WY (R), (A)
not the correct explanation of (A). Ex| F’F TR A 2
(B) Both (A) and (R) are true and (R) is (B) (A) 'ﬂ;en (R) &1 T&t €, 37 (R), (A) F1
the correct explanation of (A). e TR )
(C) (A) is false, but (R) is true. (©) (A) e[ &, W (R) Tl B |
(D) (A) is true, but (R) is false. (D) (A) Gl 2, Wg (R) Terd ¥
SPACE FOR ROUGH WORK / T% &Td & ﬁa'& e
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17.

18.

19,

(@) In geologic past South America and
Africa were joined together.

(b) The separation between South
America and Africa took place by
sinking of South Atlantic basin,

(A) Both (a) and (b) are correct

(B) (a)is correct, but (b) is incorrect

(©)  (a) is incorrect, but (b) is correct

(D) Both (a) and (b) are mncorrect

Which one of the following is not an
extracellular matrix protein ?

(A) Vitronectin
(B) Laminin
(C) Cyclin

(D)  Fibronectin

How many ATP are required for the

+
conversion of one N, to 2'NH4 during

biological nitrogen fixation ?
(A) 8 ATP

(B) 10 ATP

(C) 12 ATP

(D) 16 ATP

18.

19.

(B) dfaf

(a)  HTfETS S35 3 afeqor avitean wf ariteny

(b)  sferor s e STIRI! % T afaqoy

(4)

(a) T (b) T et &

(B)  (a) &, wg (b) Tomm &
(©)  (a) T, g (b) T

(D)

(a) T (b) ST Ter £

ﬁtrf‘—crﬁaaffﬁﬁ?mwaﬁﬁ!mﬁfiw

e Wl &7
(A) fagrfes

C) wrfwm
(D) Wsifres

ﬁﬁamf&m%mwwﬂﬁ

2NH:ﬁtrﬁErﬁ’r

1 % % o et gep

¥ ATP SATEIHar gt &2

(A) 8 ATP
(B) 10 ATP
(C) 12 ATP

(D) 16 ATP

SPACE FOR ROUGH WORK / T% & % ford g
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20. The plants which are completing their life- ~ 20. 9&Y S a9l et F 371 Sra7-9% UG
cycle in wet season are called as : A FEam ¥ :
(A) Drought escape (A) = g
(B) Drought tolerance (B) W=k wfgwy
(C) Drought resistance (C) = wfcrret
(D) Drought Deficit (D) U 9@
21. Assertion (A) : In eukaryotes  21. fHERYUT (A) : THERE H Tved Gaesi
interogators are associated with sensors. q Hag 20 ¥
Reason (R) : The producer genes are FROT (R) : WS SH 19ye 21 & <
output controls of regulation mechanism. = fafy =t feifm @ &
(A) Both (A) and (R) are true, and (R) (A) (A) #iR (R) 2 7& & 3i (R), (A) F1
is correct explanation of (A). HE AT el
(B) Both (A) and (R) are true but (R) is (B) (A) 3T (R) B W&t €, W (R), (A)
not the correct explanation of (A). 1 &l = TE
(C) (A)is true, but (R) is false. (©) (A)T& &, wg (R) To@ ¥
(D) (A) is false, but (R) is true. (D) (A) 7o §, W (R) 9t £
|
22.  Which of the following is not included  22. ﬁmi%rr“@a\ d A B F-fag e
under in-situ conservation ? Hitgfea Tl']ﬁ g2
(A) Tiger reserves (A) A ARfHE &
(B) National parks (B) U @M
(C) Sanctuaries (C) HA¥FET
(D) Botanical gardens (D) T?fﬁﬁ‘ EBIE]
SPACE FOR ROUGH WORK / T% &4 & fod s
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23,

24.

What are the sequence of steps of
reactions in polymerase reactions of the
following events ?

(a) DNA annealing

(b) DNA denaturation

(c) DNA purification

(&) (2) > (b) > (0

(B) (@ - (b) - (d)

© (®) - () - ()

(D) (a) = (c) > (d)

For continuation of protein synthesis in
bacteria, ribosomes need to be released
from mRNA as well as to dissociate into
subunits. These processes do not occur
spontaneously. They need the following
possible conditions :

Which of the following sets of statement
is correct (s

(@) RRF and EFG aid in this process
(b) An intrinsic activity of ribosomes
and an uncharged tRNA are
required

(€) IF - 1 promotes dissociation of
ribosomes

IF-3 and IF-1 promotes dissociation
of ribosomes

(a) and (d)
(a) and (b)
(a) and (c)
(b) and (d)

(d)

(A)
(B)
(©
(D)

23.

24,

DNA
DNA fasfaerto
DNA
(@) —|(b) - (o)
(@) = (b) = (d)
(b) = () = (d)
(@) = (c) = (d)

(c)
(A)
(B)
(©)
(D)

e & St weero #t et s vy
% T mRNA ¥ s =1 e e
ST TS SYgehredl F fawfed @ snavas &
¥ YHR i wiwEand W 3o 9w
T S % feru Feneferfia Gaerit iy
HI AEvEF e

Frafafad F % o9 § § #9-1 wuq
@ 2
(a) ¥HUHA H RRF 3R EFG Wemal #1
g
UIHTEIT 1 snafes nfafafy g
SR tRNA #1 storeersrar aidt &

IF-l,Fm%ﬁaaaﬁm
w
IF - 3 3R IF - 1, Tz % fymes

[ 1 HieaTe

(b)

SPACE FOR ROUGH WORK / T% w4 & ford s
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25. In Ecoli a Hfr strain has following map ~ 25. Z&ifer s Hfr fagt fr=1 wefifa amfas =1
a,b,canddaregenes: @ﬁﬂT%:a,b,cBﬂ'{dﬁ??I
F - plasmid
What will be order of gene transfer ? S T T W B 2
(&) @-0)-©-@ (4) (@ -b)-©- ()
(B) (d)-(c)-(b)-(a) (B) (d)-(c)-(®)-(a)
© @-®-(@-( ©) @-(b)-(@)- ()
(D) (d)-(9)- (@) - ®) (D) (d)-(0)- (@) - (b)
26.  60S and 20S mRNA after reaching in  26. 605 A% 20S mRNA, FfeTHE] e *
cytoplasm attaches itself to : q¥E =Y Tﬁ fored dom #a € 2
i
(A) Endoplasmic reticulum (A) ama‘ail’r et
(B)  30S ribosome (B) 30S UgsEm
(C) 508 ribosome (C) 50S TEsEEm
(D) None of these (D) 399 9 =g TS
SPACE FOR ROUGH WORK / T% &Td & f&d wmme
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28.

(a)

©)

(d)

(@) The embryo sac of Allium is
regarded as bisporic.

(b) The formation of embryo sac of
Allium takes place by participation
of two nuclei derived from meiosis.

(A) Both (a) and (b) are correct.

(B) (a) is correct, but (b) is incorrect.

(C) (a) is incorrect, but (b) is correct.

(D) Both (a) and (b) are incorrect.

Which of the following gives the correct
human disease causal microbe match for
each of them ?

Human disease Causal
microorganism

Typhus (i)  Streptococcus
pyogenes

Lyme disease (i) Helicobacter
pylori

Chronic gastritis (i) Borrelia
burgdorferi

Scarlet fever (iv) Rickettsia
prowazekii

Code :

@ (&) (@ (@

(A) () @) @v) (i)

(B) @) @ () (v)

© @) @) @) @

D) @ @) @ @)

27. (a)

B S TS

(b)

B
(a) ﬂ?

(a) 2BHH

(b) =mEH T

() SfFrefa sy

(d) TR s

%

(a)
(A) @)
(B) @
© @)

(i

(i

=7

e

(D) @

(1

(b)

(1)

S

(iv)

Qferm % ST 1 fafasm & v

(b) 1 T E
(2) et &, fofeg (b) T &
(a) A R, foreg (b) W ¥
(a) ¥R (b) T Trerg ¥ |

SPACE FOR ROUGH WORK / 1% T4 & FH-T R
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29. Match Table - I and Table - II. 29. feTERT - I %1 aMfeeRT - 11 % T gfew
i)
Table - I Table - II arferant - 1 ArferanT - 11
(a) Citric acid cycle (i) C, Plant (a) Tofes svet =1 i) C,9=y
(b) Kranz anatomy (i) Pyruvate (b) %= fa=em (i) wEEEe
(c) Chemiosmotic (iii) Oxidative (c) wHisIfew Fufem (i) sEAERE
coupling phosphory- RItCIceEil AR
hypothesis lation :
Code : %
@ (b) (o) @ (b (o
A) @ @) G A) @ @) (i)
(B) (H) @) () (B) @) () ()
(©) @) (@) @ © @ @) @
(D) (@) @) (i) (D) (i) L@ | ()
30. Arrange the following events in proper  30. ZE&YH # TRIEY & S U e Hered
order of it; happening during interferance 1 3MET 37ghH 7 |
of translation. '
(a) Double stranded DNA cut down to (2) < BT DNA =1 s g
smaller pieces by Dicer BR-BIE THS | T
(b) Conversion of Double stranded (b) ﬁ%ﬂéﬁt DNA # UHe w2
DNA to single stranded DNA DNA ¥ gfafda s
() Interaction of DNA with RISC () RISC % ®%r DNA 1 s
(d) Cleavage of mRNA (d) mRr\Hw. &1 fazo e
() Complimentary pairing of iRNA (e) mRN!A % WY iRNA F1 T S
with mRNA AT
(A4) (@) = (b)— (9= (d) — (e) (4) @) = (B) ()= (d) - (e)
(B) (@) = (9)— (b)— (e) - (d) (B) (@) — () (b)= (e) - (d)
© @ - ®- ()= (e) - (@ © @ - [®)- () () - (@)
(D) (b) = (@)= (- () - (d) (D) (k) = ()= (c)= (e) - (d)
SPACE FOR ROUGH WORK / % #¥ % fort sie
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31,

32.

Sir J.C. Bose developed a very sensitive
instrument, which was able to magnify
growth of plant upto 10,000 times. This
apparatus can record growth to an extent
of fraction of minutes. The name of the
instrument is :

(A) Seismograph

(B) Crescograph

(C) Cardiograph

(D) Oxigraph

A student wrote following statements
regarding comparison of Restriction
Fragment Length Polymorphism (RFLP),
Random Amplified Polymorphic DMA
(RAPD), Amplified Fragment Length
Polymorphism (AFLP) and Simple
Sequence Repeats (SSRs) techniques used
for generating molecular markers in
plants :

(a)  All these techniques can be used for
fingerprinting.

Detection of allelic variation can be
achieved only by RFLP and SSRs.

(b)

(c)

Use of radioisotopes is required in
RFLP and RAPD only.

(d) Polymerase chain reaction is
required for all the techniques.
Which one of the following combination
of above statements is correct ?

(A)  (a) and (b)

(B)  (b) and (c)

(©) () and (d)

(D) (d) and (a)

31.

32,

WHH. 9 A & i gieavie 75 =
mmﬁm%qﬁaaﬁmmow
T ST 3 it ey e | 7 sy
wm%wmﬁﬁﬁmﬁmq@ﬁ
mmm%,wmmwwm%?
(A)

(FETE)
(B)

(©) =mfdnmms
(D) &HifrH

Tt =71 7, Mg i vy wifemifteey
(M TE.TL. ), =0 Traies gt
DMA (3T M.t ), wrefrrrge i oy
eTRITthe (0, U, U, ) e feerer figerdreg
Rftew (Ta.wn.smes.) fafist % gom
Ty o | g fafust =1 sugn i o
STtk et & S % fera forar s & -

1 |t fafiei =51 sy femfuf &
Toran < wepar B

Uefifeors ofeds & faeirmm =7 1o
FIT | AR.TH.TE.H. LR
TH.UH.3IREH. ¥ fHar o1 oo 2
Fael SN TH.Ua, 0, 3fix HAR U E,
7 eAamemizint & svmn =
ST Bl 2 |

(@) ¥ w fafrd ¥ for e saen

Sfafsran & sravasma 2t £

ST A 1 Crefefad § 9 S e
wEE?
(A) (a) 3R (b
(B) (b) &R (c
© (o9 ¥irR@
(D) (d) *iR (a

(a)
(b)

(€)

L S — e

SPACE FOR ROUGH WORK / T% &1 & ferg e
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33.  Which of the following is mismatch ? 33. I W gAfers T 32
(@) Epstein-Barr (i)  Burkitt's (a) gcqaﬁ-r—aﬁ (i) afehew fermpm
virus lymphoma aEE
(b) HTLVI (i) Adult T-cell (b) HILVI (i) TS T-¥e
leukemia Fﬁﬁﬁn
(c)  Herpes Virus (iii) Kaposi (©) zﬂ‘a AE  (ii)  FHTIET GrRT
sarcoma
(d) HIV (iv) Retinoblastoma (d) HIV (iv) A=
Choose the correct option : wEr ﬁlﬁ("ﬂ ﬁef :
(A) (a) - (i) and (b) - (ii) (A) (@) - () 79 (b) - (ii)
(B) () - (iii) and (d) - (iv) (B)  (©)- (iii) 791 (d) - (iv)
(€)  (b) - (i) and (c) - (i) (©)  (b) - () T (c) - (i)
(D) (d)- (iv) (D) (d)- (i)
34. The formation of acetyl coenzyme A from  34. f#g E:Iﬁl'i%m & TROTTEEY TEEE e
pyruvic acid is the result of its : 4 Telifet wEA A W o g &2
(A) Reduction
(B) Oxidative decarboxylation
(C) Dephosphorylation
(D) Dehydration
35.  The national aquatic animal of India is : 35. : :
(A) Irrawaddy dolphin (A) m@r Sl
(B) Porpoise (B) drdfzw
(C) Blue whale © ﬁ%ﬁ
(D) River dolphin (D) f=r zﬁqn-—r
SPACE FOR ROUGH WORK / T% T4 % ﬁm?r R
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36. 36.

Diet ‘
Cﬂrb;il;c?;ate Dietary proteins STET TR i

| |

Glucose Amino acids Lcar AT ufge
. i e
. E— \/’

INSULIN Acetyl CoA ——» —Ketone TR CoA — —» > Fla Tl
bodies l
Faﬂ}lAcid ﬂ;pfrffh’g
e

Observe above flow chart and detect STIF YAE W 1 3165wk gaEy fs

which metabolic process is this ? e 58 YR #t deEifas gisFa &2

(A) Fatty acid Oxidation (A) % wHre i

(B)  Triglycerol Synthesis (B) ewfiemrie Hyermor

(C) Ketone body Oxidation (C) =M sigt sifsdfero

(D)  Cholesterol Synthesis (D) T oo

37. Which one of the following best defines 37. FERAA9N sty 1 39 T F aftafig
an Oncogene ? FAT®?

(A)  An Oncogene never codes for a cel] (A) TF AR, HierenT o G
cycle protein, which promotes cell A FIH T3 W F foe it =
proliferation. Rl TR |

(B)  Oncogenes are always involved in (B) =S, W & Ivufvmenf waf &
inherited forms of cancer. BHIN WitAfeE = ¥

(C)  An Oncogene codes for a protein (C) T=hISH 39 WP ¥ form FE FATE
that prevents a cell from undergoing S et ifee 1 T e g
apoptosis. EECIES!

(D) An Oncogene is a dominantly (D) Wsﬁqyma??ﬁ?qiwaamﬁ—qﬁfa
expressed mutated gene that S & S ol Fifoe = i &
renders a cell advantageous fere vt s gl

towards survival.

SPACE FOR ROUGH WORK / T% &1 % o s
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38.  Ozone pollution js indicated by leaves of 38. WS YSHY & e gt §
plants in the form of - T e
(A) Intercostal bronzing (A) IEERRS Fifs
(B) Minute chlorotic dots (B) BR-BR Feinifrs et
(C)  Tip and margins browning (©C) mfe vd fmy &7 9T
(D) Watery film on epidermis (D) et W - ey
39. Which of the following is the mismatch 39, Feferfan 4 e o & TSiiferi & gy
between the names of the following & e Afem 7@ &2
parasites of human body ?
(A)  Ascaris lumbricoides - Roundworm (A) TRy THIHIFE - TRy
(B)  Enterobius vermicularis - Hookworm (B) w=Hifagg e FeRT - HpwrHfy
(C)  Trichuris trichinrg - Whipworm (C) zEFgRy ETEIFRT - Fmpfy
(D)  Loa loa - Eyeworm (D) sy efhar - ety
40.  Match Table - I with TabJe - 1I. 40. TRt - I =1 ArfereT - I1' % |1 gifer
Hifsg)
Table - T Table - 11 arfeTeRT - 1 afereRT - 11
(@)  Monosporic (i) Allium (@) THSTS yyorp (i) oy
embryo sac
(b) - Bisporic embryo sac (i) Polygonum (b) Tgfersmos YT (W) v
(©)  Tetrasporic - 8 (iii)  Peperomia () = <. 8 (i)  Y9farr
nucleate embryo sac Hhgw HW@W
(d) Tetrasporic - 16 (iv)  Adoxa (d) . - 16 (iv) TSy
nucleate embryo sac BEZ-c YOTHIT
Code : &6 ; |
@ () () (a) @ ® © (@
A @ @ (v a A @ @ (v @
B @ ) @) () ® O @ @) (v
© @ @ @ (i) © @ 6 @) ai
D) @) @ @) (v D) @) @) () (iv)
SPACE FOR ROUGH WORK / % =rd & fordr s
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41.

42,

43.

(@)

(b)

(d)

The formation of gametophyte directly
from sporophyte without undergoing
meiosis is :

(A) Parthenogenesis

(B)
(C) Apomixis
(D) Apospory

Apogamy

Eukaryotic chromosomes are made up
of :

(A)
(B)
©
(D)

DNA + Pectin
RNA + DNA
DNA + Histones
DNA only

Match the Group - I with those of
Group - I

Group - 1 Group - II

Isotype (i) Vi domain

switching

Clonal Energy (i) Non-responsive
to self antigen

Class Il MHC  (ili) Non-responsive
Ty cells

Self-tolerance  (iv) PBy-Microglobulin

Code :

@ (b)) (o) (@

@A) @) 0 @ @)

B) @) @) @) @@

© @) @ @) 0

D) (v) @) @) ()

41.

42,

43.

(@)

(b)

©

(d)

ferenfire = & werer = et g ftem-safig
TA&Id: TG Hg | afiafdd g = giwma
T 1 e € ?

(A)

(A) @?rmim + R
(B) JRTH.T +TLUAL
(C) ‘eﬁ.TI}T.l .+ B
(D) ae BLETAE

[YE - [ 1 WL - I1 § gifea wifag |

wE-1
sTEEerEy fa=m (i)

- 11
Vi BHA
FATS A H-ufwsA ¥ fom
EEGERIMIGH
EERIERINIG]

Ty HeH

B,- AR e

(i)
9 I MHC (i)

-
&R

(i)

(a)
i) (i)
@) (i)
(iif) (i)
(iv)

©
(i)
)
@)
@)

(d)
(iv)
(i)
()

(A)
(B)
©

(D) iii)

SPACE FOR ROUGH WORK / T% &4 & f&d wE
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4. Regarding Mmicrotubule assembly ang 4. Frie v %mmsﬂzqgawmm

disassembly during ce]] division, which g oo % 9 ¥ waifys Sfag 3w¢

will be the mogt appropriate answer ? EaEk: | ¥

(A) Once formed, kinetochore (A) 127-]? TR 997 F e FEATIHIT
microtubule polymerize at the plus Wﬁﬁ?—r Tt BECE i i
ends throughout mitosis, 1 R R gt &

(B) Once formed, kinetochore (B) Q? IR 97 F Fre FHIEATTFIT
Microtubules depolymerize at the qﬁﬁﬂﬁq&rﬂ'ﬂ{[ﬂfﬂﬁﬁw%m
plus ends throughout mitosis. CEREcrilry T T & vy

(©) Kinetochore microtubules ©) wEEER ARSI 73 3507 Fagdy
polymerize at their minus ends upto R ety TFSRI Y g4I
cytokinesis, at which point they TEff'&'rqu'?fI
depolymerize. i

(D) Kinetochore microtubules (D) Wﬁﬁ'{ HISShISeeq 3773 o LB
Polymerize at their plus ends upto b} aE"-iTﬁﬂ?r B & wf g ﬁﬁ@?‘ﬁﬁﬂr
anaphase, at which point they i v ;g #)

begin to depolymerize,

45. Celleycleis a highly regulated Sequential 45, Fry ux ST Foeifrm HIHF g &

Process that involyes following events, o Frferfan A wifter
(@) G, Phase @ Gyw

®) G, Phase G 'vml

(¢) S Phase (o R "EFUTI

(d) M Phase (d) M=o

The sequence of these events are ; 7 "3 3y . 8

@) @ ), ©, @ A) @, ©) o), @

(B) (@), (b), (@), (0) B) (). ®), (@), ()

©  ®), (), @), @ © ) (), (4:3), (d)

@) (®), (), (@), (2 @) ®). ©). (@), @)

SPACE FOR ROUGH WORK / T HTE & fort T
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46. Match the following from Group - I with ~ 46. |YE- I %I #Yg - [I ¥ fremy
Group - 11 :
Group - 1 Group - II e -1 g -1
(a) Auditory placode (i) Changing (a) oA THE (i) If¥reR SR |
cell shape BILEGE
(b) External gills (i) Mesoderm (b) = firew (i) HeF=H
(c) Microfilaments (i) Protrusions  (c) Y& Tq (iii) Ifered =1 3R
of epidermis
(d) Notochord (iv) Lateralline  (d) FRmHIS (iv) e g
sence organ
(e) Colouration in (v) Cooperation (e) Il H UH (v) S %1 HeEr
Insects of genes
(ff Hormonal control  (vi) Mammary () ToFmFEHEA (vi) Fied @@= g
of development gland [EREL IEEIE|
development
in mice
Code : &e
@@ () (© (d (e (@ (@ (b) () (d) () (H
@) (v) ) ) @ 6 () A) ) @) ) @ 6 @
B) (v) @) @ @ ) (@) B (v (@) O @ ) v
© i) G) @ v) ) (@) © @) @) @ () ¢ @)
(D) (@) @) @ (v) (vi) (v) (D) @) (@) @ @Gv) () (v)
47. Edward’s syndrome is caused due to : 47. ugas fagm e s E
(A) Trisomy 21 (A) TEEE 21
(B) Trisomy 13 (B) ZEEHE 13
(C) Trisomy 18 (C) T=HEH 18
(D) Trisomy 20 (D) ZEEHE 20
SPACE FOR ROUGH WORK / 7% &4 & ferdl sirg
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48.  Sugar moves i Phloem vessels 45 - 48.  IYaTE Ao i TH g T Yafeq g
2?2
(A) Cellulose (A) Hogerg
(B)  Glucose (B) TI=m
() Starch ©) =
(D) Sucrose (D) gFm
49.  Which one of the following Palindromic 49, DNA ¥ e o g g faeimt 8% 3y
base sequences in DNA can be easily cut favry Sfcaferg ISR % 577 36%
at about the middje by some particular " F AH-um T | 12y oy HFHar &2
restriction eénzyme ?
(4) 5'-CGTTCG -3 (A) 5-CGTTCG - 3
3' - CCAAGC . 5’ 3 - CQAAGC - 5
(B) 5'-GAATTC. 3 (B)  5'-GAATTC - 3
3'- CTTAAG - 5 3'- CTTAAG - 5
(© 5'-CTacrG.-3 © 5-Cracrg.-s3
3'- GTGCAA - 5' 3'- GTGCAA - 5
(D) 5'-CACGTA - 3 (D) 5'-cAccraA -3
3'- GCATAC.- 5' 3 - GCATAC - 5'
50. The ‘Natural selection’ is best defined a5 50. UEEfaw a0 311' F BY § 99 7=
occurring when the environment causes - TF § i ST & e et ;
(A) differentia] success in reproduction (A)  TTomET o fadera e Toert &
(B) differential mortality (B)  Tavieiig yazay
(C)  assortive mating (©) i afem
(D)  a reduced gene pool (D) wHFq s et
SPACE FOR ROUGH WORK / 1% &t % forgy e
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51.

52,

The author of the book ‘Zoonomia’ is :
(A) de Vries

Lamarck

(B)

(C) E. Darwin

(D) C.Lyell

As cancer progresses, several genome
rearrangements including translocation,
deletion, duplications etc., occur. If these
rearrangements of chromosomes and
DNA contents are to be measured, which
are the combinations of techniques will
be most suitable ?

(a) RAPD

(b) Flow cytometry

(c) Multicolour FISH

(d) GISH
(A) (a) and (b)
(B) (b) and (0
(©) (9)and ()

(D) (a) and (d)

51.

52

i 4 S A o A § o
19z i 3t DNA favaeagsi #t =
T AT F A A A
waiST waifie ST € 2

|

|

St o1 uE. .

(a)
(b)
©
(d)
(A) (a) 3 (b)
(B) (b) 3N (¢)
© (o) * ()

(D) (a) ¥ (d)
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53.  Three double stranded DNA molecules 53, T - Shww U
have same number of nucleotides, byt F HeE v g 3791 Tt fimy
differ in their form : g:
(@) B - form of DNA (@) DNA#IB- s1#R %% w5
(b) A - form of DNA (b) DNA I A - a7 % 1y
(©)  Z-form of DNA (©) DNA I Z - s1m =t oy
Arrange these three different forms in SEIEE D mﬂ-ﬂmﬁmﬁ@ (Bl - 728)zq
increasing order of length (small - large) a1 fafi= s =5y Fafterd Hifsm
Code : Fe: |
@A) @-b)-( (4) (@) -(b)- (o)
B) ®)-(@)- () (B) (b) -i(a) -(©
©) (©-(b)-(a) © ©-(b)-(a)
(D) (b)-(0) - (a) D) () -(0) - (a)
54 Palaeonmlogy is the study of : 54, ﬂfﬁaﬂ@ﬂﬁt T sropm £
(A) Fossil plants (A) Waw* Tty
(B)  Fossil animals (B) Gr‘larsu”r JTuit
() Buried organisms and rocks (C)  SFF & 2% Sfig g g
(D) Both (A) and (B) (D) (A) o (B) 3
SPACE FOR ROUGH WORK / 1% w7d Ed ferdr <rg
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ab.

Match the components of ‘lac operon” of

E.coli given under Column - I with their
functions listed in Column - II. Choose
the answer with correct combination of
alphabets of the two columns.

Column -~ I

(Components of lac

operon)

(@) Structural gene (i)

(b) Operator gene (i)

(c) Promoter gene (iii)

(d) Regulator gene (iv)
(v)

Code :

@ (b)) (0 (d
(A) @@ @) ) @
(B) () (i) () (iv)
© ™ @) G @
(D) @) @) (v) ()

Column - II

(Function)

Binding site
for repressor
protein

Codes for
repressor
protein
Induced
lactose
transport
from the
medium
Code for
enzyme
proteins
Binding
site for
RNA

polymerase

55. W -17 fed M Eaifr & ‘& i’ &

azaﬁﬁﬁfm;nﬁfzrzﬂﬁaﬁwcﬁ%mﬂ
gufed #ifow w& 3Fl @l % Tewee &
n‘é’rmﬁw g
WY -1 WY - 11
(e 3T % wew ) (=)
(a) msﬁq (i) THTERT
| T
(b)y W= SH (i)  TEAER
! WA & He
(©) Wlﬁ%‘ﬁ? (i) HTEAW |
| AT 1
' EIECES]
(@ faEmsEsH  (v) oo Eee
& g
(v) RNA viferast
| T S T
- T
@ (b)) (© (@
(&) @) @) ) @
(B) (i) (mJ @ ()
< (ﬂ @ @)
@ v O W

(i)

9210/TFU-LS/ELG-1I
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56. The gene(s) used for developing insect 56. Afew St gy *® I § #e
resistance using genetic engineering tools SRR % formrg H 5w St/ St &8
is/are :

(a) Crystal protein (crygene) (@) forea g (ISt
(b)  Cowpea tripsine inhibitor gene (b)  F1Ed frafy Hew sy
(c) Soyabean tripsine inhibitor gene (c) HrmE fefi Hew s
(d) Bar gene (d) =R s

(A) (a) only correct (A) Fam (a) WEt

(B)  (a) and (d) correct (B)  (a) 3R (d) Wt

(€)  (b) and (c) correct ©) () 3R () wet

(D) (@), (b) and (¢) correct (D) (@), () 3 () 7@

57. Western blotting is a technique employed 57, ‘e wffen U T 2, 76 veam %
for the identification of - fore sweim & sy SR
(A) mRNA (A) mRNA
(B) DNA fragment (B) DNA @e
(C) tRNA (C) tRNA
(D) Protein (D) wWER

58.  The order of events, 58. ?ﬂ"f WS % BRY ST 9w g &reit
(@)  Ecesis, (a) “Fﬂam,

(b) Aggregation, and (b) 3T, Ty

(©) Migration, for the invasion of () Td'ﬂ';f!

species is :
(A) @ - (© - @) (A) (@) > (0) - ()
B © -0 - (@ B) ()= (b) > (a)
© ®-@© - @ © B - (9
(D) () - (a) - (b) (D) (©) - (@) > (b)
SPACE FOR ROUGH WORK / 1% FTE % ford v
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59,

60.

Which one of the following is regarded

¢ as a ‘paleoherb’ ?

(A) Hamamelidales
(B) Ranunculales
(C) Trochodendrales

(D) Piperales

The complex responses to different types
of DNA damage in both prokaryotes and
eukaryotes fall into two main categories.
Which combination is correct ?

(a) Damage DNA

glycosylase

removal by

(b) Damage reversal by DNA methyl
transferase

(c)  Damage by pass by DNA helicase

(d) Damage by pass by primase

(A) (a) and (b)

(B) () and ()

(©) () and (d)

(D) (b) and (c)

59.

60.

Frefefian 3 e ‘dferited’ e § 2

(A) %ﬂﬁﬁé?—ﬁﬁ
(B) TS
© e
(D) e

|
Tk ey @i ey 3 H €A, wf
¥ grafem fafs= ven & afimg swfwand
< v Afori § faenferd ge )
frefafea 3§ & #A-w g a@ 82

(a) TLEAG ﬁﬂgﬁﬁqﬁm g afa &1

(b) DA Bfew TRE gE At

() B, Hfer g e A w
(d) mﬂ"v’lmﬁ &ifd =1 9T Tl

(A) (a) R (b)

B) () aﬂt()

© (a)afn(d:)

(D) (b) ¥ ()

SPACE FOR ROUGH WORK / % % % ferdt s
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61. In bacteria, which lacks the cell nucleus,  61. e o wrw ¥ T o T 3UF F9
the cell cycle is divided into = FI safed § fawfer fean
periods. TﬂT?IT'E‘I
(A) A,B,Cand D (A) A, B,C3RD%F@

() B,Cand D (B) B, C 3R D %
(C) E,F,GandH Q) EFGaihHaﬂa
(D) None of above (D) B § FE off 7

62. Assertion (A) : Viral DNA cannot be  62. ifumes (A) : DNA 9=t w=eq ¥ zry
attacked by DNA digesting enzymes, A DNA W SThA9 =& faban s g
Reason (R) : More unusual bases are ST (F{) : 9% DNA ¥ sifys samr
present in viral DNA. e 3Yfeer e § |
(A)  Both (A) and (R) are true and (R) is (A4) (A) @ (R) < W ¥ i (R), (A)

correct explanation of (A). 1 W& e §
(B) Both (A) and (R) are true but (R) is (B)  (A) @ (R) A ¥=1 € v (R), (A)
not the correct explanation of (A). | 9El e T8 ¥
(©)  (A) is true but (R) is false. (©) (A) ¥ 8 g (R) o5 ¥
(D) (A) is false but (R) is true. (D) (A) 379 ® W (R) 97 &
SPACE FOR ROUGH WORK / T% T4 % fordt sz
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63. The challenges faced by aminoacyl tRNA ~ 63. @l 3THIH 37l % 59 H SHIHICH e t(RNA
synthetases in selecting the correct amino TS F G FATaE 1 FHA I, 9F
acid is more daunting than its recognition e t(RNA &1 T89H &7 &I 9aq ifas

of the appropriate tRNA. In case of amino
acids with similar structures like valine

forecafea

i @ TIH 9

ATl & | et T snesiegEE
T ATl SHAT 3 o "9

and isoleucine, this challenge is met by Y 39 HAdl 1 GHAT THF TIEH &
the enzyme possibly through its : % g T s 2

(a) catalytic pocket (a) I Yok

(b) editing pocket (b) HEIEA Ul

(c) anticodon loop (c) T=THIEA T

(d) acceptor arm (d) T o

=1 4 |& 92 %1 994 Fifan .

Choose the correct set from the following :

(A) (a) and (b) (A) (a) ¥R (b)
(B) (a) and () (B) (a) 3 (0)
(©) (b)and (d) (©)  (b) R (d)
(D) (b) and () (D) (b) 3 (c)
64. Separation of proteins in two-dimensional ~ 64. {7 ferta St seragrmife® & W2 &1 gUw
gel electrophoresis is dependent on : 7 fasi #1
(A) Mass of the protein alone (A) I UEH F FHAN
(B) Charge of the protein alone (B) I WEH & =Sl
(C) Mass and hydrophobicity of the (C) WEH ¥ z=HA SR Siesifd
protein
(D) Charge and mass of the protein (D) WM & =S IR FoHH

SPACE FOR ROUGH WORK / T% @14 & el o718
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65. Assume two conditions of crossing over 65, a1 frufqdl t sew HIT &1 R IfyrE
present and absent in different cells favrsm & wwg fafv=s Fifewen o
during cell division, in different cells the Trﬂ?—ﬁlﬁﬂ'q EalCEs R R Gl EGi
two alleles of a gene will segregate T 5 SA-fafma #t ve T4 2 ¢ @,
during : ﬁf\ﬁmﬁﬁﬁﬁ?%aﬁ?ﬁﬁ

fawnfaa &
(a) Prophase I (a) SIS - 1% SR
(b) Prophase II (b) W% - 11 % R\
() Anaphase I (c) TATRST-1% 3w
(d) Anaphase II (d) TS - I % SR
(A) (a) and (c) correct. (A) (a) 3R (o) T8 ¥
(B) (a) and (b) correct. (B) (a) 3R (b) W& §)
(C) () and (d) correct. Q) (c) 3 () &t &1
(D) (b) and (d) correct. (D) (b) 3R (d) wEt 1

66. The structural and functional unit of  66. Wwwm@mmﬁ
muscle contraction is the : 2:

(A) Myosin (A) wrEfE

(B) Sarcomere (B) HremiHIaR

(C) Myofibril (C) wrEfRlse

(D) A and I Bands (D) Agmids
|

67. DNA fragments can be separated by the  67. DNA %@’éﬁ =1 o fafa g srem fea =
technique called : e '3'?

(A) Western blotting technique (A) %A =T qaies
(B) Northern blotting technique (B) A =HAfen aehiw
(C)  Southern blotting technique (C) §sd =ifen qete
(D) Eastern blotting technique (D) ¥ wwffen qwdte
SPACE FOR ROUGH WORK / T% & % ferdt sg
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68. Two dimensional electrophoresis 68.
) .involves:
(A).. SDS-PAGE in 1* dimension and [EF (A) YA amm # SDS-PAGE 3R g®
. in 2" dimension T H TEF
(B) IEF in 1%t dimension and PFGE in 2" (B) Weel 3T H IEF iR g& M |
dimension - PFGE
(C) IEF in 15t dimension and SDS-PAGE (C) Wet s H IEF 3R @ o1 o
in 274 dimension SDS-PAGE
(D) IEF in 1%t dimension and TLC in 2"d (D) TEA amm H [EF 3 g oW |
dimension e |
69. Match Table - I and Table - IL. 69. m—laﬂ%m - 11 1 gAfera Fifste |
Table - I Table - II arfereRt -1 anferent - 11
(a) Cdk Pathway (i) Replication (@) cdkmm | () e
(b) Apoptosis (i) Cell cycle b) TIEfEm | ) HiE = R
regulation
(c) DNA (i) DNA () SLuAT TfamE (i) HIESEReI
polymerase fragmentation AT A 3R
and degradation lRiaic T
of cytoskeleton |
Code : H: ‘
@ () (o (a) (F) (c)
(A) () () (i) @) O @ @)
(B) () @) () (B) (i) () (i)
© (i) @) @ © @) @) 6
(D) (@) @ (i) D) G @ i)
SPACE FOR ROUGH WORK / T% &1d & fod e
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70.  Match the following in human genetics.  70. H=g SgaferRe ¥ e @ gAfem s

(@) Trisomy 21 (i) Edward (a) ZEHT 21 () T=aE fogm
syndrome |
(b) Trisomy 18 (i) Down's (b) ;mm 18 (i) =R fagm
syndrome |
() Deletonof (iii) Retinoblastoma () FHRAF (i) Yedwrm
middle part of HEYTT Y
chromosome 13 faeiram 13
(d) Adeletionof (iv) Cri-du-chat (d) waﬁn‘@q (iv) Cri-du-chat
chromosome 5 syndrome 1 foediva 5 fagm
Code : Fe:
@ ) (© (@ @ ® © @
(A) @) @) (@) (i) (A) c'n) () (i) (iv)
(B) () @) @) (iv) (B) cl) (i) (i) (iv)
©) Gv) @) @ (i) (@) (éiv) (i) @) (i)
(D) () @) @) () @) i) @ @) 6

71. During geological time scale, fishers 71. WHAESF TBfer w1 fawg Jiiiferes oy

evolved successfully during : e & forg s & e ?
(A) Cambrian period (A) ¥ e

(B) Devonian period (B) %aﬁ:ﬁ-q:; FlA

(C) Permian period (Q) qﬁ:i’q:r FTA

(D) Pleistocene period (D) 'Q?ﬁ@]:ﬁ:[ FTE

SPACE FOR ROUGH WORK / T% &T4 % fert wig
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73.

74.

The primary constituent of a cell is :

(A) Carbon

(B) Water

(C) Cytoplasm

(D) Gas Vacuole

(@) Normally the transgenes are
introduced in nuclear genome, but
for higher expression of transgene,
chloroplast transformation can be
done.

(b) The chloroplast has multiple copies

of circular DNA.
Select the correct answer :
(A)
(B)
(©)
(D)

Both (a) and (b) are correct

(a) is correct, but (b) is incorrect
(a) is incorrect, but (b) is correct
Both (a) and (b) are incorrect

(@) Cyclins are the catalytic subunits,
while CDKs are the regulatory
subunits of a heterodimer overall
regulating cell cycle.

When activated by a bound cyclin,
CDKs

biochemical

common
called

perform a
reaction
phosphorylation.

(A)
(B)
(©
(D)

Both (a) and (b) are correct.
(a) is correct, but (b) is incorrect.
(a) is incorrect, but (b) is correct.

Both (a) and (b) are incorrect.

72.

73.

74.

T e F A T
(A) e |
) (O
(C) WM
(D) e Eg

AT S €, T S % I
sfyeafa & fau FERrem= S
fam T Hewa B

|
mﬁmm,qﬁa@ﬁ
T Brefl € 1
(A) (a)ﬂm(i?)ﬁﬂﬁfﬁ
(B) (a) WEl & T (b) T T
(©)  (a) T &, T (b) T ¥
(D)  (a) T (b) Tl e §

(@)

(b)

A, S o g § wats
CDKs, & #fetiernm &% fos
39-3HTEET & S ol BT | e = H
Foeifera wea €1 -

w9 foRdl SEy gRT W19 g1 W
gisfoadd 91 CDKs U HMEHHE
Sa-TgrE Sl F e w
%,ﬁﬁmwm%l

(a) W %, W (b) T T

(a) T &, T (b) TR B

(a) 3R (b) T 7T ¥ |

(a)

(b)

(A)
(B)
(©)
(D)

SPACE FOR ROUGH WORK / T% &g % fod s
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75.  Following are few chemical reactions : 75. 1 F® THEtE sfufrad & =i

(a) Adenosine diphosphate (ADP) — (a) BT sEWiEHz (ADP) —
AMP + (P AMP + @

(b) Adenosine Triphosphate (ATP) = (b) RVINfET TrEFHTHET (ATP) —
ADP + ® ADP + ®

(c) Phosphoenolpyruvate (PEP) = () WITHIzgATaAUEEdZT (PEP) —
pyruvate + (@) ‘Tl?ﬁ? + ®

Arrange these reactions as per increasing AT q.ﬁ ARIE 9 ¥ Ty B 39 rfufsranadf

order of AG. 3;'1 sqaﬁqa HIfSU |

(A) (a), (b), (c) (A @, b), ©

B (© b), (@ B © O) @

(©) () (a) () - (©). (), @), (©

(D) (b), (©). () (D) () (), (a)

76. Read the following statements and choose 76. : =y m;q:'n ] qfeu iR 9t fasey T
the correct options.

(a) Increase in melanized moths after (a) ﬁ-g fazg 4 sieifretsor % e
industrialization in Great Britain is ﬂmﬁﬁfmﬁ fs EIRIESIEI8*EACED
a proof for natural selection. aR-u; 1 T Hd § |

(b) When more individuals of a (b) mw@y&;aﬁqmrwﬁﬁqqmm
population acquire a mean A WA F 9T FT o ¥d =
character value, it is called Y FE W6l 2|
disruption. -

(c) Changes in allelic frequency in‘a: (c) Tt Sgen § teffers sefa §
population will lead to Hardy - Sfted, srei-faTert = sEwen &1
Weinberg equilibrium. AR 3TEL 07 |

(d) Genetic drift changes the existing (d) wfe= Wt ¥ SiH 1989 & s
gene or allelic frequency in future TAHH S AYeE] Ueferd sa
generation. et 2 & |

(A) (b) alone is correct. (A) wHad (b) W& ¥

(B) (d) alone is correct. (B) F=a (d) HWe B

(C) (a) and (d) are correct. ©) (a) S (d) T €1

(D) (a) and (c) are correct. (D) (a) T (c) Wl ¥

SPACE FOR ROUGH WORK / T & t o s
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78.

79.

In an ordered tetrad analysis, if the two

genes are linked then :

(A) The parental ditype will be more
than non-parental ditype.

(B) The parental ditype will be equal to
the non-parental ditype.

(C) The parental ditype, tetratype and
non-parental ditype will be equal.

(D) The parental ditype will be equal to
the tetratype.

(a) AFLP is a good technique for DNA
finger-printing.

(b) In a single run on a denaturing
PAGE gel of ~50 cm, it will
generate ~ 1-2 bands.

Select the correct option :

(A) Both (a) and (b) are correct

(B) (a) is correct, but (b) is incorrect

(C) (a) is incorrect, but (b) is correct

(D) Both (a) and (b) are incorrect

(a) In a shotgun DNA sequencing
approach the relative position of
cloned fragment is known.

(b) Even incomplex higher eukaryotes,
the assembly of such sequenced
fragments is very easy.

Select the correct option :

(A) Both (a) and (b) are correct

(B) (a) is correct, but (b) is incorrect

(C) (a) is incorrect, but (b) is correct

(D) Both (a) and (b) are incorrect

77,

78.

79‘

foret wiim =gen favemm 3, o =8 2

Sty feee &1, -

(A) - faan fgwerr 1 smen amar-faa
fogwer & sifie 27|

(B) T e firen g S - e fawehm
T E |

(C) wra-foan fEWehR, Iq%F YR a4 R
A fien fawem sre 2 |

(D) wra-faan fewer, Jq=F TR & STel
Bl

(@) DNA fRmR-f§fén & ferw AFLP T
som fafy &

(b) ~ 50 cm % fafasor PAGE 3@ WX
THa W H ~ 1-2 S o1 S wom |

Fﬂ'ﬁﬁqﬁef::

(A)  (a) T (b) T W §
(B) (a) W& B, W (b) TeTA §
(C) (a) o & T (b) T &
(D) (a) @ (b) B Tora €

(a) W& DNASTIHHY TH7 A Fail-s
W%’fpﬁﬁﬁﬁmﬁimm%l

(b) ﬂﬁﬁ%wﬂﬁamﬁﬁﬁz
", 39 Y%R & FqHHa @l &
Hie 9gd W §

& e

(A) (a) @ (b) T |l €
(B) (a) W& R, T (b) T ®
(C) (a) 7T B, TG (b) W ¥
(D) (a) T (b) S e €
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9210/TFU-LS/ELG-11

Set- A



80'

81.

()

(b)

(A)

(B)

(©)

Read the given statements and select the 81.

In Pinus the nutritive tissue for the 80.

embryo is triploid.

The triploid endosperm is formed
by the fusion between one male
nucleus and one antipodal.

Both (a) and (b) are correct.
(@) is correct, but (b) is incorrect.
(a) is incorrect, but (b) is correct.

Both (a) and (b) are incorrect.

correct option from those given below :

Statement - 1 : Amino acids are capable

of forming long polymeric peptide chain.

Statement - 2 : Amino acids are dipolar
zwitter ions.

(A)

(B)

Both statements are true and
statement - 2 is the correct
explanation of statement - 1.

Both statements are true but
statement - 2 is not the correct
explanation of statement - 1.

(@) WETEH Y1 % fer drveh S ffor
RG]

(b) | Frford yyordre @1 Frafn w | Tfi
iR F TR % ue gieT @

B
(A)  (a) 3R (b) 3 wet &
(B) (a) W&l 2, fog (b) 7Tora B
(©)  (a) T & g (b) W ¥
(D) (a) 3R (b) B Tera § 1

fau Tu e =1 wfgw qen frafafag frmed
ﬁﬂaﬁﬁwgﬁ'&:

HUT - 1: FHA I TF o= oo
TeRE §Ee a7 TF ¥

WA - 2: AAMI 37 fgyelt seitex a9 B
gl

(A) TN Fu9 9eF 2 st waw - 2,
WY - 1 T AT §

|
(B) R F97 A ¥ W wUT- 2,
U -1 F TE e TE ¥

(C) Statement - 1 is true but (C) UF -1 9 T T FHYUT - 2 5
statement - 2 is false. 2l
(D) Both statements are false. (D) B %o Tera § 1
SPACE FOR ROUGH WORK / 1% &T4 & fordl wmig
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82. The given figure shows three velocity- 82, T4 fa3 w=mgw sifufe=n ¥ fau 4= I-
substrate concentration curves for an Ha&2l & digu &1 o g9l 21 5% XY
enzyme reaction. What do the curves X, 3R Z e o i € 2
Y and Z depict respectively ?

:>° :>° X Y
2 £
g Z
e
e
£ |
Substrate concentration (S) —» A TH (S) —
(A) X - normal enzyme reaction (A) X-9M= Ty A
Y - competitive inhibitor Y - yfaeasicres sHemies
Z - non-competitive inhibitor Z - IR-vfeeruiers e
(B) X - enzyme with an allosteric (B) X - UdiIfisn wWigaret Fifsm TgH
modulator added
Y - normal enzyme activity ; Y - 9T Ted T
~ Z - competitive inhibitor Z - yiaeqyicas STanes
(C) X - enzyme with an allosteric € X- Qﬁ@ﬁ‘:q‘? eI aTeT TIEH
stimulator |
| s
Y - competitive inhibition added Y - HfaeasieTs sTaHeE Ao u=sigy
|
Z - normal enzyme reaction Z - 9 U=y sAfufsea
(D) X - normal enzyme reaction (D) X - AW u=ieH Afafwar
Y - non-competitive inhibitor added Y - IR-wfaeqyicrs srades difaa
T
Z - allosteric inhibitor added Z= @'@'ﬁ'ﬂ% HaHes IfSa T=mEH

SPACE FOR ROUGH WORK / T% @14 & ford smg
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83. Match Table - I and Table - I1. 83. WRUT - I % |RUf - 11 3 frems
Table - I Table - II AR - | AR - 11

(@) Rhynia (i)  Jurassic (a) sy (i) Sufes

(b)  Medullosa (i) Devonian (b) Fgear (i) ZEifEE

() Williamsonia  (iii) Carboniferous () FRlrm@ta (i) wEi
Code : <

(@ (b) (o) @ () (o)
(A () () (i) (A) @ @) (i)
(B) () @) (i) B @@ @ (i)
(©) G @ @ © Gi) @) ()
(D) @) (i) (i) (D) @) Gi) ()

84. Food webs based on the conceptwhoeats 84, F frgm) wmy ® W ST w5
whom, emphasizing the feeding I e oy I < €, T Fear 72
relationships are called :

(A) Functional food webs (A) FEiEF @r s
(B) Connectedness webs (B) HINTHE ey

(C)  Energy flow food webs (C) e yar @ s
(D) Source webs (D) #ra et

85. In contrast with plant cell, the most  85. urY Ffermsi § famtia g wiforme H
distinctive feature of cel] division in FifvrE v =1 fafire firereror & .
animal cells is - !

(a) Pattern of chromosome movement. (a) I[“Tlfq?r BECERIRC e
(b)  Ubiquitin - dependent pathway for (b) W Frefer % o gfafaa-
protein degradation. 3Taefad 9 |
(A) Both (a) and (b) are correct. (A) (a) 3R (b) 3 T& &
(B)  (a) correct but, (b) incorrect. (B) (a) W&l €, 9 (b) Tom )
(©)  (b) correct but, (a) incorrect. (©) (o) T €, g (a) o 2
(D) Both (a) and (b) are incorrect. (D) (a) 3R (b) 3 7o F
SPACE FOR ROUGH WORK / T% &1 & foar e
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86. Match Table - I with Table - IL. 86. WM - I 1 WRUR - [1 § gifer Fifem |
Table - I Table - 1 |t - 1 [ROT - 11

(a) Ligule (i) Filicopsida (a) Sfiqa | () Trcfeifos

(b) Amphigastria (i) Gymnosperms (b) ufERdifE (i) for=res

(c) Indusium (iii) Lycopsida () Tsferm (ili) TERITEHST
(d) Integument  (iv) Hepaticopsida d) TR  (iv) ifeifme
Code : T
@ b © (@ e e B D (@
(A) @) @) @@ @) Ay () {ii): (@) (iv)
(B) () @) (@Gv) (1) (B) (i) (i) | (iv) (i)
© v @ @) () © @ O @ @
(D) (@) @v) (@) (i) (D) (i) (iv) () (i)

87. The branch of science dealing with the 87 fﬂﬁﬁ FI 98 VI'IFI S HEE g % HHUR Ee)

improvement of human race is called as: = elfer & FEemM ¥ :
(A) Genealogy : (A ?ﬁ':fmﬁﬂ"
(B) Eugenics (B). g
(C) Euphenics (C) IHfEE
(D) Euthenics (D) Fafsa |

SPACE FOR ROUGH WORK / T% ®T4 % ford =g
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88. Malignant tumor derived from connective 88, W mﬁﬂ@ﬁ%ﬁﬁ'wm
tissue is called : o
(A) Carcinoma (A) HIEHMET
(B) Sarcoma (B) W
(C) Blastoma (C) ==
(D) Lymphoma (D) femmry

89.  Match the role of following chemicals/ 89, DNA feriisa # formferfiaa wmmi /it 51
compounds in DNA isolation. FEl = ghfad i)

(@ EDTA (i) Cationic detergent (@) EDTA (i) v sifusrds
(separation of (afewor #34 |
polysaccharides G FEEl
during ferdror)
purification)

(b) Phenol (i) Removing protein (b) fFfa (i) DNA Sfred & 9 w2
from DNA samples |

(c) SDS (iii) Chelation of () SDS (iti) fEEAST SET 1 e
divalentious |

(d CTAB  (iv) Detergent to remove (d CTAB (iv) DNA Hag WeH us
lipid and DNA : fefaei =61 gem =
associated protein Afyspda

Code : He

@ () (9 (d (@ (b) (o) (9
(A) @) @ (@Gv) (i) (A) (i) @& (v) (i)
B) @) @ @) @ B) @) @ ) @
© @ v @ @@ © @) Gv) @ @
(D) @ G) @) (i) D) () @) () (v)

SPACE FOR ROUGH WORK / T% e % ferd wite
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90. Ecological dominants are : 90.

(a) the species that have a major
controlling influence.

(b)  the species that live in community.

(c) the species that affect the
environment of all other species.

Code :

(A) (a), (b) and (<)
(B) (a) and (o
(C) (a) and (b)
(D) (b) and (¢

91. Arrange in order the following events of =~ 91.

the earth’s history that took place through
time in the geologic past :

(a) Formation of Tethys Basin

(b)  Position of India along the equator
(c) Opening-up of North Atlantic Basin
(d) Rise of Himalayas

(e) Breaking up of Pangaea

(A) () = (b)= ()= (d) = (a)

B) (@ - (B)- (d)- (©) = (e)

(©) (€)= (d)- (©)— @ - (b)

(D) (&) = (@) () (b) = (d)

TifEfas gae €

(a) T wfa forend faeaor =1 g v
(4

(b) e g < WHEE H Al

(c) S 3 §ft wenfadi & waiEwor #i
giferd e €

(A) (a), (b) ¥ (©)
(B) (a) ¥ (c)
© (@) ¥R (b)
D) () (o)

et & el ¥ w2t e s ) e
a:a@aaﬁﬁq::

(a) fegrm Srom & famior
(b) a{qwm%mwaﬁﬁwﬁ
(©) saﬁamfﬁﬂvﬁawfaww@w
(d) fewmem™ g #1 32
(e) msﬁreglm

(A) (&)= [©) (- ) - @
(B) (@ = )= ()= (©) - (o)
© (@~ (D= © (@) - (b)

(D) (&) = (@)= ()= (b) = (d)
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92.  During development of which one of the 92. T 4 ¥ fory st % famm Teuaf

following organisms, bilateral meroblastic et faermsst qrm < 7?2

cleavage is found ?

(A) Bird (A) usft

(B) Mollusc (B) Hierew

(C) Snake (C) =g

(D) Fish (D) T

93. Which of the following statements are 93, =1 & F9 & wom v g7

true ? R : 7

(@) The process of neurogenesis begins (@) WHzen % dwe W G GIEETC ko)
by the flattening and thickening of T BT w5 Tz w1 g
neuro-ectodermal cells in the Wﬂﬁﬂ?{“‘{%ﬁfﬂﬁﬁﬂﬁ"l’[ﬁ
ventral region of gastrula, Y Brelt & i

(b) ~ Liver develops in the form of a (b) e ¥ @rgeft éﬁlﬁﬁﬂ'ﬁr"% Y
hollow diverticulum from the H w5 # ey RERCUDI & I
alimentary canal.

(€) The atrium is derived from (c) Stave & ufzem %t sqeafar a2
endoderm.

(d) Blastocoel prevents the cell beneath (d) HREFET 37 FiferEi ®1 S 39F T8
it from interacting prematurely CR B A ST -H Fifvrwie &
with the cells above it. :T’ZT T e e w § e

1| .

(6)  Mesenchymal cells which form the (e) THsHRERm FifeEpTd <t T ElEEaE
blood vessels are called as &1 frmion #3dt § ) whsimere x|
angioblasts. g |

(f) The division of blastomere ig ® WT{E‘TH'TQ'{ F1 fq9SH w@as wg
independent and asynchronous. STTCHHICH et &

Choose the correct answer : E I E‘-’I .

(A) (a) and (o) (A) (a) 3R ()

(B) (b)and (c) (B) (b) ¥R (o) _

© (@), (©), (d) and () © ), (0), () 3R (5

(D) (b), (d) and (f) (D) (b), (d) & (p)
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94. Photorespiration is a characteristic feature 94, Weh19l YaqT foruat srfiremerforer fasiear €2

of ;

(A) C, plants (A) C, 9=

(B) G plants (B) C;U=y

(C) CAM plants (C) CAM UrEH
(D) Xerophytic plants (D) = wfgw ey

5. Out of the following options of the  95. MADS =fag 958 ey 9 % ywEf @
functions of MADS box-containing genes Hafud ffafaa #1 9 faweg af §2

in plants are correct ?

(a) Floral organ identity (a) Y A7 HT ggEE

(b) Development of root, seed and (b) vemE, = 3R U = faww
flower

() Development of stomata () H@® = o

(d) Development of chromatin (d) shiHfed mrlﬁzm

(A) (a) and (b) (A) (a) 3R (b)?

(B) (b) and (c) (B) (b) 3R (o)

(©) (o) and (d) © (o) ¥R (q)

(D) (d) and (a) (D) (d) ¥R ca)'
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96. During replication of DNA uncoiling of 96, ﬁI‘Q:IQ gfasfa wfwa ¥ ehm IRER
DNA spiral, separation of two strand and WS A eford T, & 2 =i favaa
arrangement of four deoxyribonucleoside FIA I yAF €T H sy wn
triphosphate on the side of each strand, [EEE IR e et IRFHITHE F
and polymerisation of the newly arranged E‘Jaﬁiﬂ'ﬁ FE T GHF TS 'é‘e.’ F T
deoxyribonucleoside to form new DNA 9 T S, Fe F fmio 4, Tafafa
strand at the side of each template strand fesriatrargwitiare TGEATHII I
occurs. This is the method known as - =1 Bt &, 39 fafy =) 3 HEd § ?

(A) Conservative mode of DNA (A) dwu wfasfa =1 Heam fafy
replication

(B) Semiconservative mode of DNA (B) ET'Q?T{ wfasrfa &1 s1ef-wram fafy
replication ;

(C) Disparative mode of DNA (C) 3°f:11=f11 Afashfa =1 gyeerror fafy
replication

(D) Duplication of DNA (D) EluAu, %1 yfafefyemo

97. Swine flu is caused due to : 97. & W] BH HHRTE

(A) H;N, (A) H;N,
(B) H,N;, (B) Hf.;N]
(© HN, © HN,
(D) H;N, (D) HN,
SPACE FOR ROUGH WORK / 1% @14 % fordr g
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98. The exogenous agents that cause 98,

developmental anomalies are known as :

(A) Carcinogens

(B) Mutagens

(C) Chromogens

(D) Teratogens

99. Administration of estrogen to adult male 99.

rats results in :

(A) Decreased testosterone production.

(B) Decreased Luteinizing hormone
and testosterone production.

C) Increased estrogen secretion in the
8
testis.

(D) None of the above.

Tt foer o1 0 awen afedfa FrF
FHEA &

T A TR Y T A A

(A) TR S 4 & S B

(B) 1] BRI Te SRR ST e
RS

(C) 2few o sram =1 v =g v €1

(D) I H HrE oft 7 |

SPACE FOR ROUGH WORK / 7% & & ferdt s

9210/TFU-LS/ELG-I1 45

Set - A



100. The RFLP pattern observed for two pure  100. & fogrs s st (P4 & P,) ¥ fow
parental lines (P, and P,) and their F, THAfi RFLP Wew 3R 5% F, Hafa &1
progeny is represented below. Further, = yefeia famar man &) P, o9 H e 5
the P, plant had red flowers while the P, S P, d ¥ 9 41 F, Hafa @ P, A
had white flowers. The F; progeny was T HHRA FE T gforE: A s
backcrossed to P,. The result obtained, vod Yol aTeft Hafd i e siv 7% RELP
showing the number of progeny with red yr&dl i e awelt F frfm fa
and white flowers and their RFLP
patterns is also represented below :

r [ P i It - | Progeny of the cross P P E | F, @@ P, % uey g5

1 r 1| betweenF, and P, % . o gam
|Phenotype| Red | White| Red Red White i I T e — i
RFLP i Y P ERE RFLP s (i N T [—
pattern ET
Number of Proga:ly iy s| 5|45 | 5 wafa R vem 45 | 5 | 45 | 5
Which one of the following conclusions frefafiaa 2w freed wd £ 2

made is correct ?

(A) The DNA marker and the gene for (A) FH % S T DNA foal 71 gt
the flower colour are 10cm apart. 10 cm %1
(B) The marker and the gene for the (B) HRI'{"T % i ud fawi # g 5 cm
flower colour are 5cm apart. 2l
(C) The marker and the phenotype are (©) fﬁ%‘#ﬁ TS "R WAy w9 9
independently assorting. 'ﬁfﬁﬂn‘{w F R
(D) The marker and the gene for the (D) & foes wd 5w TE Y e
colour segregate from one another. BAE
-00o0- -00o0-
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SET - A
I Mfwa FAwr O 2w { AferamT 3i% : 200

Time for marking answers : 2 Hours Maximum Marks : 200

1 39 We-gfe 3 100 TGS w9 & - wole we 2 ot 3 Tl 9 B HON Atrared ¥
2. 9¥ ¥ IW, & T OMR T30 (SER-¥f2) R sifwa it

3. RHE YedishA Tl faar smem

4. Wﬁm%%ﬁamaﬁm@mﬁwwmaﬁh%u

5. OMR SW-¥ie (FHR-vie) mmmmwaﬁéwmﬁwﬁmﬁmwwmm
wﬁﬁgmmmﬁwmmmﬁm%m@aﬁu

Note ;

1.  There are 100 objective type questions, in this booklet. All questions are compulsory and
carry 2 marks each.

2. Indicate your answers on the OMR Answer-Sheet provided.,
3.  No negative marking will be done.
4.  Use of any type of calculator or log table and mobile phone is prohibited.

5. While using OMR Answer-sheet care should be taken so that the Answer-sheet does not get
torn or spoiled due to folds and wrinkles.
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